
 

Page | 1 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

LANRK4CNH16N 

Installation Instructions 
Rock Block Kit for New Case & New Holland 16ft Mower/Conditioners 

Fits: CIH 163 and NH 316 

225 Main Street South 

Bristol, SD 57219 

Mobile: (605) 216-4852 Office: (605) 492-3641 

Email: horterfarm@nvc.net 



 

Page | 2 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Numerical Parts List 

Part Numbers Description Qty 

LANRK415 CNH Center Mount 1 

LANRK416 CNH Side Mount (Left) 1 

LANRK417 CNH Side Mount (Right) 1 

LANRK418 CNH Center Mount Spacer 4 

LANRK419 CNH 16ft Curtain Mount Tube 2 

LANRK442 Curtain Tube Extension 1 

LANRK4C200 200“ Rubber Curtain 1 

LANSS704 Twist Lock 1/2” Bent Pin 2 

REDB512 1/2” x 3” Hex Bolt 2 

LAN22000 1/2” Flat Washer 4 

RED1F30 1/2” Top Lock Nut 2 

LANFB310 3/8” x 2.5” Hex Bolt 4 

LAN18000 3/8” Washer 8 

RED0DTT 3/8” Top Lock Nut 4 

LAN204K 5/16” x 1” Carriage Bolt 10 

LANFXG26 5/16” x 3/4” Carriage Bolt 25 

LANNAS2 5/16” Serrated Flange Nut 27 



 

Page | 3 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Pictorial Parts List 

LANRK415 (1) LANRK416 (1) LANRK417 (1) LANRK418 (4) 

LANRK4C200 (1) LANRK442 (1) LANSS704 (2) LANRK419 (2)  

REDB512 (2) RED1F30 (2) LAN22000 (4) LAN204K(10) LANFXG26 (25) 

LANFB310(4) LAN18000 (8) RED0DTT (4)  LANNAS2 (27) 



 

Page | 4 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Kit Installation 

Figure 2 

Figure 1 

Refer to Figures 1 & 2 

1. Open two of the hoods/covers of the mower. 

2. Mount the center bracket (LANRK415) to the exposed frame as 
shown. Use the provided 3/8” hardware and the LANRK418 spacers. 

3. Leave the fasteners slightly loose for adjustment later. 



 

Page | 5 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Kit Installation 

Figure 4 

Figure 3 

Refer to Figures 3 & 4 

4. On each end of the mower, remove the shown carriage bolts 
from the frame and canvas. Keep the washers and nuts. 

5. Mount the side brackets (LANRK416 & 417) on the sides so 
the flanges stick out. Use (4) 5/16” x 1” carriage bolts and the 
saved washers & nuts for each side. Tighten well. 

FOR NH 316+ & CIH 165 Models: 
Switch the side brackets so the flanges go OVER the machine. 



 

Page | 6 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Kit Installation 

Refer to Figures 5—7 

4. In the narrower space, set one of the bars (LANRK419) in the 
center and side brackets. The end with the bushing goes in the 
center mount. 

5. Fasten the bar and center mount together with a 1/2” x 3” bolt, 
(2) washers and a top lock nut.  

6. Do not fully tighten as this functions as a hinge for accessibility. 
7. Adjust the center bracket side to side so the end mount and bar 

lines up. Insert a twist lock pin (LANSS704). 

Figure 7 

Figure 6 

Figure 5 



 

Page | 7 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Kit Installation 

Figure 9 

Figure 8 Refer to Figures 8—10 

8. Slide the extension (LANRK442) into the end of the second bar. 
9. Join them with (4) 5/16” x 3/4” carriage bolts and serrated flange 

nuts - tighten. 
10. Install this new, longer bar  in the same way as the other. 
11. When both LANSS704 pin are installed, tighten the center mount 

hardware completely. 
**If the bar ends and side brackets do not line up, if may be 

necessary to shim the backets with washers** 

Figure 10 



 

Page | 8 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

Kit Installation 

Figure 12 

Figure 11 

Refer to Figures 11—13 

12. Attach the rubber curtain; starting at one end insert a 
5/16” x 3/4” carriage bolt through the curtain & bar and 
secure with a flange nut. 

13. Proceed to the other end adding a bolt and nut every 3rd 
or 4th hole, then go back and insert all the others. 

14. Where the main bar and the extension overlap, use (2) 
5/16” x 1” carriage bolts to secure the curtain. 

Note: A punch maybe be necessary to stretch and align the 
curtain with the bars. 

Figure 13 



 

Page | 9 7/2/2024 www.therockblock.net Rock Block is a registered trademark of Horter’s Farm and Ranch Supply, LLC. 

For further technical assistance, 

Call Rock Block at: 

(605) 216-4852 

To access the cutter, remove the twist lock 
pin and swing the curtain outward. 


